Ordinary Differential Equations Course Code: 21M03CC UNIT - I

Dr. A. Tamilselvan Professor and Chair School of Mathematical Sciences

BHARATHIDASAN UNIVERSITY Tiruchirappalli- 620024, Tamil Nadu, India

$$\begin{aligned} \sum_{25} ||1|^{1220} & \text{Recall} \\ f(m) = m(m-1) + m|p_{5} + F_{5} \\ f_{6}(m) = 0 \\ g_{1}(m+1) + g_{6}(m|p_{2} + F_{2}) + g_{1}((m+1)|p_{1} + F_{1}) = 0 \\ g_{2}(m+2) + G_{6}(m|p_{2} + F_{2}) + g_{1}((m+1)|p_{1} + F_{1}) = 0 \\ g_{2}(m+n) + g_{6}(m|p_{1} + f_{1}) + \cdots + g_{n-1}[(m+n-1)|p_{1} + F_{1}] = 0 \\ g_{1}(m+n) + g_{6}(m|p_{1} + f_{1}) + \cdots + g_{n-1}[(m+n-1)|p_{1} + F_{1}] = 0 \\ g_{1}(m+n) + g_{6}(m|p_{1} + f_{1}) + \cdots + g_{n-1}[(m+n-1)|p_{1} + F_{1}] = 0 \\ g_{1}(m+n) + g_{6}(m|p_{1} + f_{1}) + \cdots + g_{n-1}[(m+n-1)|p_{1} + F_{1}] = 0 \\ g_{2}(m) = f(m) = 0 \Rightarrow [m((m-1) + m|p_{1} + F_{2} + 2)] \\ g_{2}(m) = f(m) = 0 \Rightarrow [m((m-1) + m|p_{1} + F_{2} + 2)] \\ g_{1}(m+n) = 0 \Rightarrow [m((m-1) + m|p_{1} + F_{2} + 2)] \\ g_{2}(m) = f(m) = 0 \Rightarrow [m((m-1) + m|p_{1} + F_{2} + 2)] \\ g_{2}(m) = g_{1}(m) = 0 \Rightarrow [m((m-1) + m|p_{1} + F_{2} + 2)] \\ g_{2}(m) = g_{1}(m) = 0 \Rightarrow [m((m-1) + m|p_{1} + F_{2} + 2)] \\ g_{2}(m) = g_{1}(m) = g_{1}(m) = 0 \\ g_{1}(m) = g_{1}(m) = g_{1}(m) = g_{1}(m) = 0 \\ g_{1}(m) = g_{1}(m) = g_{1}(m) = g_{1}(m) = g_{1}(m) \\ g_{1}(m) = g_{1}(m) = g_{1}(m) = g_{1}(m) = g_{1}(m) \\ g_{1}(m) = g_{1}(m) = g_{1}(m) = g_{1}(m) = g_{1}(m) \\ g_{1}(m) = g_{1}(m) = g_{1}(m) = g_{1}(m) = g_{1}(m) \\ g_{1}(m) \\ g_{1}(m) = g_{1}(m) \\ g_{1}(m) = g_{1}(m) \\ g_{1}$$

in general $m \ge m_2$ dots not _ Rince $f(m_2 + n) \ge$ $f(m_1) \ge 0$.

Sf $m_1 \ge m_2$, we also obtain only me formal setution. $(Y_2 \ge JY_1)$

In all other cases where mi and me are numbers, this procedure gives two independent formal solutions.

I we are not discussing the case when M, and me are complex conjugate numbers.

Example 1: (onlider the Bressel's equation of order 1

$$x^2y'' + xy' + (x^2-1)y = 0$$
. Show that $m_1 - m_2 = \lambda$ and
that the equation has only one Frobenius series
solution. Then find it.
Given that
 $x'y'' + xy' + (x'-p')y = 0$
 $y'' + xy' + (x'-p')y = 0$

Sty form:

$$y'' + \frac{1}{2}y' + \left(\frac{\chi^{2}-1}{\chi^{2}}\right)y = 0$$

$$p(x) = \frac{1}{\chi}, \quad q(x) = \frac{\chi^{2}-1}{\chi^{2}}$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

$$\chi = 0 \quad (3 \quad \alpha \quad hingular \ |point.$$

r J

$$\begin{aligned} (z, \quad y = \sum_{n > 0}^{\infty} a_n x^{n+n}, \quad y' = \sum_{n > 0}^{\infty} (n+n) a_n x^{n+n-1} \\ y'' = \sum_{n > 0}^{\infty} (n+m) (n+m-1) a_n x^{n+n-2} \\ (1) \quad b \in com(x) \\ x^2 \equiv (n+n) (n+m-1) a_n x^{n+n-2} \\ y'' = \sum_{n > 0}^{\infty} (n+m) a_n x^{n+n-2} \\ y'' = \sum_{n > 0}^{\infty} (n+m) a_n x^{n+n-2} \\ y'' = \sum_{n > 0}^{\infty} (n+m) a_n x^{n+n-2} \\ y'' = \sum_{n > 0}^{\infty} a_n x^{n+n} - \sum_{n > 0}^{\infty} a_n x^{n+n} = 0 \\ x \equiv (n+m) (n+n-1) a_n x^{n+n} + \sum_{n > 0}^{\infty} (n+m) a_n x^{n+n} \\ y'' = \sum_{n > 0}^{\infty} a_n x^{n+n+2} - \sum_{n > 0}^{\infty} a_n x^{n+n} = 0 \\ x \equiv (n+m) (n+n-1) a_n x^{n+n} \\ y'' = \sum_{n > 0}^{\infty} a_n x^{n+n+2} - \sum_{n > 0}^{\infty} a_n x^{n+n} \\ y'' = \sum_{n > 0}^{\infty} a_n x^{n+n+2} - \sum_{n > 0}^{\infty} a_n x^{n+n} \\ x \equiv a_n x^{n+n} \\ - \sum_{n > 0}^{\infty} a_n x^{n+n} \\ x \equiv a_n x^{n+n} \\ + m a_n x^n + (m+1) a_1 x^{n+1} \\ + m a_n x^n + (m+1) a_1 x^{n+1} \\ + \sum_{n > 0}^{\infty} a_n x^{n+n} \\ - a_n x^n - a_n x^{n+1} \\ x = 0 \\ x = 0 \end{aligned}$$

$$[m(m-1)+m-1]G_{0}\chi^{m} + [m(m+1)+(m+1)-1]G_{1}\chi^{m+1} + \sum_{n \ge 2}^{\infty} [(n+m)(n+m-1)G_{n} + (n+m)G_{n} + G_{n-2} - G_{n}]\chi^{m} + \sum_{n \ge 2}^{\infty} [(n+m)(n+m-1)G_{n} + (n+m)G_{n} + G_{n-2} - G_{n}]\chi^{m} = 0$$

$$\Rightarrow \left(m(m-1) + m - 1 \right) a_{0} = 0 - (1)$$

$$= \left(m(m+1) + (m+1) - 1 \right) a_{1} = 0 - (1)$$

$$= \left(m(m+1) + (m+1) - 1 \right) a_{1} = 0 - (1)$$

and
$$\left[(n+m)(m+n-1) + (n+m) - 1 \right] a_n + a_{n-2} = 0$$

$$(\overline{m}) \Rightarrow (\underline{m+n-1})(\underline{n+m+1})(\underline{n+m+1})(\underline{n+m+1}), \underline{+} \underline{n \geq 2}$$

$$\Rightarrow G_{n} = - \underline{-G_{n-2}}(\underline{n+n-1})(\underline{n+m+1}), \underline{+} \underline{n \geq 2}$$

$$a_n \geq \frac{-a_{n-2}}{n(n+2)}, \quad \forall n \geq 2$$

كرم

$$\frac{f_{20}m(i')}{[m(m+1)+(m+1)-1]a_{1}=0} \Rightarrow 3a_{1}=0 \Rightarrow a_{1}=0$$

$$\alpha_{3} = -\frac{\alpha_{1}}{3.5} = 0$$

$$n=4$$

 $a_4 = -\frac{a_2}{4.6} = \frac{a_0}{2.4.4.6} = \frac{1}{2.2}$

$$\frac{(ASe_{1}(r))}{(r)} = \frac{m_{12}(r)}{r}$$

$$\frac{1}{24r} = \frac{1}{r} = \frac$$

$$\begin{array}{rcl}
Q_{n} &=& -Q_{n-2} \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\
& & & \\$$

M >-1

$$\frac{\alpha_n}{2} = \frac{\alpha_{n-2}}{\alpha_{(n-2)}}, \quad \forall n \ge 2$$

$$a_2 = -\frac{h_0}{2.0}$$
 Can't find a_2

N = 3

N=4

N=2

 $a_{3} = -\frac{a_{r}}{3 \cdot 1} = 0$ $a_{4} = -\frac{a_{2}}{4 \cdot 2} \quad c = h \text{ find } a_{4}$

The second solution
$$y_2$$
 Cen't be found.
.: we have only one solution corresponding
to mathematical $y_2 = \frac{1}{2} \left\{ x_1 - \frac{1}{2} + \frac{1}{2}$

Let
$$y : \chi^{m} \underset{n \ge 0}{\leq} a_{n} \chi^{n}$$
, $(a_{n} \neq 0)$ be a believe off $(1)^{n}$
 $x = \sum_{n \ge 0}^{\infty} (n+m) (n+m-1) c_{n} \chi^{n+m-1}$,
 $y^{n} : \sum_{n \ge 0}^{\infty} (n+m) (n+m-1) c_{n} \chi^{n+m-1}$,
 $y^{n} : \sum_{n \ge 0}^{\infty} (n+m) (n+m-1) c_{n} \chi^{n+m-1}$
 $x = \sum_{n \ge 0}^{n} (n+m) (n+m-1) c_{n} \chi^{n+m-1}$
 $x = \sum_{n \ge 0}^{n} (n+m) (n+m-1) c_{n} \chi^{n+m-1}$
 $x = \sum_{n \ge 0}^{n} (n+m) (n+m-1) c_{n} \chi^{n+m}$
 $+ \chi^{2} \underset{n \ge 0}{\leq} c_{n} \chi^{n+m} = \frac{1}{4} \underset{n \ge 0}{\lesssim} a_{n} \chi^{n+m} = 0$
 $x = \sum_{n \ge 0}^{n} (n+m) (n+m-1) a_{n} \chi^{n+m}$
 $+ \underset{n \ge 0}{\lesssim} (n+m) (n+m-1) a_{n} \chi^{n+m}$
 $+ \underset{n \ge 0}{\lesssim} a_{n} \chi^{n+m} = \frac{1}{4} \underset{n \ge 0}{\lesssim} a_{n} \chi^{n+m} = 0$
 $y = \sum_{n \ge 0}^{n} (n+m) (n+m-1) a_{n} \chi^{n+m}$
 $+ \underset{n \ge 0}{\lesssim} a_{n} \chi^{n+m} = \frac{1}{4} \underset{n \ge 0}{\lesssim} a_{n} \chi^{n+m} = 0$
 $+ \underset{n \ge 1}{\underset{n \ge 1}{\underset{n \ge 1}{\underset{n \ge 1}{\underset{n \ge 1}{\underset{n \ge 2}{\underset{n \ge 2}{\underset{n \ge 1}{\underset{n \ge$

$$-\frac{1}{4}G_{0}\chi^{n} - \frac{1}{4}G_{1}\chi^{n+1} - \frac{1}{4}\chi^{n}\sum_{n\geq 2}^{n}G_{n}\chi^{n+m} = 0$$

$$\left[M(n-1) + m - \frac{1}{4}\right]G_{0} = 0 - \frac{1}{4}$$

$$\left[M(n+1) + (m+1) - \frac{1}{4}\right]G_{1} = 0 - \frac{1}{4}$$

$$\left[(n+m)(n+m-1)G_{n} + (n+m)G_{n} + G_{n-2} - \frac{1}{4}G_{n}\right] = 0 \quad (m)$$

$$\left[(n+m)(n+m-1)+m - \frac{1}{4} = 0 - G_{n}G_{0} + 0$$

$$m^{1} - m+m - \frac{1}{4} = 0 - 3M^{2} - \frac{1}{4} \quad \exists m \ge 1 + \frac{1}{2}$$

$$m_{1} = \frac{1}{2}, \quad m_{2} \ge -\frac{1}{2} \qquad M_{1} - m_{2} = 1$$

$$\left[\frac{3}{4} + \frac{3}{2} - \frac{1}{4}\right]G_{1} \ge 0 \quad \exists dG_{1} \ge 0$$

$$\left[\frac{3}{4} + \frac{3}{2} - \frac{1}{4}\right]G_{n} + G_{n-2} \ge 0$$

$$m^{2}M_{1} = \frac{1}{4}$$

$$\left[(n+m)(n+m-1+1) - \frac{1}{4}\right]G_{n} + G_{n-2} \ge 0$$

$$m^{2}M_{1} = \left[(n+m)(n+m-1+1) - \frac{1}{4}\right]G_{n} + G_{n-2} \ge 0$$

$$\left[(n+m)(n+m-1+1) - \frac{1}{4}\right]G_{n} + G_{n-2} = 0$$

$$\left[(n+m)(n+m-1+1) -$$

$$n = -\frac{n(u+1)}{n(u+1)}, \quad A \quad u \ge 0$$

$$\frac{\Lambda = 2}{\Lambda_{-}^{-2}} = \frac{Q_{2}}{2.3} = -\frac{Q_{0}}{3.1}$$

$$\frac{\Lambda = 3}{3} = \frac{Q_{3}}{3.2} = -\frac{Q_{1}}{3.4} = 0 \quad (:: Q_{1} = 0)$$

$$\frac{\Lambda = 4}{1} = \frac{Q_{4}}{4.5} = -\frac{Q_{2}}{4.5} = -\frac{Q_{0}}{2.3.4.5} = \frac{A_{0}}{5.1}$$

$$\frac{\Lambda = 4}{1.5} = \frac{A_{0}}{2.3.4.5} = -\frac{A_{0}}{5.1}$$

$$\frac{\Lambda = 86 \text{Tabive Corresponding to } M = M_{1} = \frac{1}{2} \text{ is}$$

$$\frac{\Lambda_{-}}{3.1} = \chi^{-\frac{1}{2}} \left[Q_{0} - \frac{Q_{0}}{3.1} \chi^{2} + \frac{Q_{0}}{5.1} \chi^{4} - \cdots \right]$$

$$= \chi^{\frac{1}{2}} \left[Q_{0} \chi - \frac{Q_{0}}{3.1} \chi^{2} + \frac{Q_{0}}{5.1} \chi^{4} - \cdots \right]$$

 $(kse(i) m = m_2 = -\frac{1}{2})$

$$\begin{array}{c} (i) \\ (i)$$

$$(#) \Rightarrow \left[(n+m)^{2} - \frac{1}{4} \right] a_{n} + a_{n-2} = 0$$

$$M = \frac{1}{2} \left[(n - \frac{1}{2})^{2} - \frac{1}{4} \right] a_{n} + a_{n-2} = 0$$

$$(n^{2} - n + \frac{1}{4} - \frac{1}{4}) a_{n} + a_{n-2} = 0$$

n(n-1)an + an-2 = 0

$$\Rightarrow \qquad a_n = -\frac{a_{n-2}}{a_{(n-1)}}, \quad \text{if } \quad n \ge 2$$

$$\begin{array}{c} n=3 \\ \hline \\ n=3 \\ \hline \\ n=3 \\ \hline \\ n=2 \\ \hline n=2 \\ n$$

$$n_{2}\frac{5}{2}$$
 $n_{3} = -\frac{n_{3}}{5 \cdot 4} = 0$

•

Take
$$Q_{0} = 1$$
 in (I) and (I)
The two independent solutions are
given by $y_{1} = 2^{\frac{1}{2}} \operatorname{Rinz}$
 $y_{2} = \frac{1}{2} \operatorname{Cosz}$

Note: 1.
Assume that
$$y_{1}^{i}p(x)y_{1}^{i}q(x)y_{2}^{i}o$$
 has a
regular highlar point at x_{20} . Then method of
Frobenius scens a solution of the form
 $y_{2} \times \mathbb{E}^{m} \mathbb{E}^{n} n^{k}$, $(a_{0} \pm 0)$.
Substrituting y, y' and y'' into D , we get the
Indicial equation $(m(m-1) \pm mb_{0} \pm 20^{-2})$ which gives
Its roots m_{1} and m_{2} (called exponents of D)
and the recurrence relation y'
Step1 using the recurrence relation and
one root m_{1} leads to a seturism y_{2}
is obtained as follows:
 $(a_{1}x) = x^{m} \frac{g}{2} a_{1}x^{2}$.
 $(a_{2}x) \frac{g}{2} = x^{m} \frac{g}{2} a_{1}x^{2}$.
 $(a_{2}x) \frac{g}{2} = x^{m} \frac{g}{2} a_{1}x^{2}$
 $(a_{2}x) \frac{g}{2} + a_{1} = m_{2}$, then $(a_{1}a_{2}) \frac{g}{2} + a_{1} = m_{2}$
 $(a_{2}x) \frac{g}{2} + a_{1} = m_{2}$, then $(a_{1}a_{2}) \frac{g}{2} + a_{1} = m_{2}$
 $(a_{2}x) \frac{g}{2} + a_{1} = m_{2}$, then $(a_{1}a_{2}) \frac{g}{2} + a_{1} = m_{2}$
 $(a_{2}x) \frac{g}{2} + a_{1} = m_{2}$, then $(a_{1}a_{2}) \frac{g}{2} + a_{1} = m_{2}$
 $(a_{2}x) \frac{g}{2} + a_{1} = a_{1} \frac{g}{2} - a_{1} \frac{g}{2} + a_{1} = m_{2} \frac{g}{2} - a_{1} \frac{g}{2} + a_{1} = a_{1} \frac{g}{2} - a_{1} \frac{g}{2} + a_{1} = a_{1} \frac{g}{2} - a_{1} \frac{g}{2}$

Note-2 Ordinary point

Let xo be an ordinary point of the diffier of y'' + p(x)y' + q(x)y = 0 — D, and let do and as be arbitrary constants. Then there exists a unique function y(x) that in analytic at xo is a setution of D in a certain neighbourhood of this point and satisfies the initial conditions $y(x_0) = a_0$ and $y'(x_0) = a_1$. Furthermore, if the power series expansions of p(x) and q(x) are valid on an interval $|x-x_0| < R$, R > 0, then the power series expansion of this saturation [y(x_0)] is also used on the same interval.

$$2020$$
 $x=0$ is an ordinary βf
 $p(\lambda)$ and $q(\lambda)$ are analytic at $\lambda=0$
 $[\lambda-\lambda_0] < R \Rightarrow [\lambda| < R$